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AXHE AgZat 232,534 246,817 A14,283
NS 25 N 232,534 246,817 N14,283
SEHE ADIME XA 229,734 244,017 N14,283
301 EetE NS 229,734 244,017 A14,283
o7 8% -0 - H¥Es243 226,790 234,640 A7,850
ostags=Eds 226,790
o S&¥+H 300,000 x48EH «12& 172,800
o S¥HU=2 300,000 x48 2 *23] 28,800
0 EFslo 4T
20,0002 x482H *23| 122 23,040
ot¥E NS 25,0002 x43H +23] 2,150
14 JIEt2d =2 2,944 9,377 26,433
OSeIMA IS FXNE 2,944
0S¥ 6832 x48 x30H* 12 1,181
oy 6832 x43 x50H* 122 1,763
AsLHEH XS 2,800 2,800 0
301 EetE2 NS 2,800 2,800
06 AH=ZSHUHAHIXIE 2,800 2,800
OXtsddUd &3l X2
700,000 *42] 2,800
ORI DJlerdst 184,870 24,280 160,590
FAUXXIME X2 184,870 24,280 160,590
FOIXXIME 2tel X 184,870 24,280 160,590
201 fer= 3| 38,153 24,280 13,873
01 AtR2tc|HI 33,853 19,980 13,873
O=g=g 50,0002 x30E 122 18,000
O3JIE8I| itz
66,0002 =20 122 1,584
OSRQHIANAY 2H(ES0IS)
121,000& * 122 1,452
OFLXXIHE A2 GRU(AEA
1,831,000& 78 12,817
2 S52g4l 4,300 4,300 0
OAlZ &I Xl 700,000 700
OS24 HAM(HEs0t2)
300,000 * 122 3,600
401 AIEHIX R0 40,348 0 40,348
01 A28l 40,348 0 40,348
OfRclud X SAt 40,348,000& 40,348
405 KHaHE SH 106,369 0 106,369
01 Tt ESF=HI 105,169 0 105,169
02& 71,487




SN oS
= FQUKK O1H4 et
&2l FUXXIHE XA (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
o FRUXIXIME AFRA Ot X
7,843,500 7,844
o FEXAXIHEH HADS BRH
1,240,000 =2CH 2,480
O FQITAIME SHIA )7 L
2,969,000 2,969
od&dll 530,000 *1CH 530
o &AtlIQIA 140,000 *1CH 140
oFUXXIgd I+ &
6,765,200 6,766
ottsHA I Xl 2,992,000 2,992
o &4 390, 000-& +3CH 1,170
oZZ A 1 Ut Xl 9,750,200 9,751
== S| 9,380,000& 9,380
oZoM(EIHE) I+ LA
9,560,500& 9,561
oZeE 014 TY(+2L)
1,150,000 «3CH 3,450
oLrE Ol4 7Y (£+28)
570,000 *15CH 8,550
0 FOIRIXIME 2D 2z
270,000 »10CH 2,700
o oA Jt7 Ll 3,203,200 3,204
O35 33,682
ot=&4 Ji7 2l 3,288,200 3,289
o et 85,000& *35H 2,975
ogds 150,000 *1H 150
oRelui AS 72,0003 = 130K 936
oRclwal I L 26,331,580 26,332
02 =AMl 1,200 0 1,200
SIHH BIXIE =AM
15,0002 *202 42 1,200
FolEo HEMA = 3,205 2,490 715
DAHOEE HHIA X 3,205 2,490 715
SEUA ¥4 29 3,205 2,490 715
201 L= 3,205 2,490 715
01 AF22t2ltl 3,205 2,490 715
OgBt==H| 2,490,000& 2,490
osguEs 24 J1J| 01d
715,000 715
S BA AIE Ul & 29E 189,469 0 189,469
= A SEHH 189,469 0 189,469
S ZALAE 2+ & 30 189,469 0 189,469
201 =3 48,328 0 48,328
01 AFS2t2ltl 48,328 0 48,328




L HEE
M O T o

S A AE Ul & 28
S BA B2HA
S A - BRI - HRA - BES e
OFEAL OIF HI= 24,079,000 24,079
OBA E1 BIE 19,899,000& 19,899
Oog==aAa 3,500,000 3,500
02 & BIEM FMBE 4718 72
50,000& % 17K 850
405 AHaHE = 141,141
01 TR ESF SHI 141,141
OXlots &1 HE= 280,000 *14CH 3,920
O1& ZH| 8,944
oIPIV EE& bl
1,830,000 *1CH 1,830
olMEESSE 258 I
280,000 +3CH 840
o 28I |AHZ2 OF L
5,194,000& 5,1%
o) ZEH 270,000 *4CH 1,080
o153 74,944
o SECRA It X 47,652,200 47,653
o2lolE mA 350,000 1CH 350
oatEAl It Yl 1,117,000& 1,117
os&A Ji= XAl 5,164,100 5,165
oM & XA I+ LA
13,503,000 13,503
ogtla Ji= A 2,697,000& 2,697
od&E 530,000 1CH 530
o MAtQIX 140,000 »1CH 140
o MEAFAA It LAl 1,300,000& 1,300
0 BIHA It A 2,488,800& 2,489
O2& 23,283
o AHMEHH 3lolal D72 Ll
12,616,000 12,616
oxRa I 2 1,905,000 1,905
osSUH=F I+ Xl 8,761,200& 8,762
03& 30,050
oizlola Ji7 Xl 17,898,000 17,898
o SIHH FAHS2E ot LAl
12,152,000& 12,152
HH2ALH|(HES) 165,885 128,945
Jl2dd(EEs) 165,885 128,945
22l NRAIS(EES) 165,885 128,945
201 fet=3| 130,961
01 AtR2t2|HI 60,565
Oget=ZH] 76, 1402 x19E + 123 »90% 15,624
O=gl 8,000 x 19 64! x 122 10,944




SN HEts
M sEeHA|(HatE)
C9l: D=2 ZH(HES) (crol: M el)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OA&EH| Xtz 8,808
odD| gXt= 30,0003 «2CH* 123 720
oHlOl Xtz 30,0003 #4CH* 123 1,440
oS A etz 187,000& *2CH 122 4,488
o03JIEEI| Xtz
36,0003 «5CH* 123 2,160
Ozels49h| 25,189
0 ROIFHINAY 2 126,00021%52 630
0 ROHBIAIAL S (MFA
256,000 7 1,792
0 AYAIE OIF R
132,000& 53 660
0 RYAIE QIFPIRICHE (AFA)
250,000 7 1,750
o&J|dH| ot zte]
135,000 *5& 675
o &Il orE e EAH
350,000 *7& 2,450
osdJ|&el SR
110,000& 123 1,320
oXAZC|IPHE 1,326,000& * 12& 15,912
02 2224l 62,3% 52,269 10,127
o233 £ HMAl 60,000,000& 60,000
OAE&EHIR X 2,000,000& 2,000
OA2I=XgY g2 33,0002 128 3%
03 HAr2 Y| 8,000 0 8,000
O&”EA A A 8,000,000& 8,000
202 0idl 24,624 24,624
01 =WHO4bI 24,624 24,624
OE&F0HI 10,0002 x19H 122 * 123 *90% 24,624
203 PYR=&IH| 10,300 10,030 270
01 J| 229 PR FA| 5,940 5,670 270
OJ22I LR =8| 495,000 122 5,940
02 BRIHAHE R FAH| 760 760 0
OFRIMHERFEH| 40,0003+ 195 760
M 2GRS 3,600 3,600 0
ORN2ILRFA| 300,000& <12 3,600




H & 0l & AHS B Ml A

2N SEIS
33 Uy ggHat
Eelr NtMEHH s X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEIS 341,130 333,253 7,877
AXHE AgZat 186,242 190,872 24,630
NS 25 N 186,242 190,872 4,630
SEHE ADIME XA 183,442 188,072 4,630
301 EetE NS 183,442 188,072 A4,630
o7 8% -0 - H¥Es243 180,340 182,840 22,500
osed gs=2d= 180,340
o S&¥+H 300,000 x38EH «12& 136,800
0SHNNZ 300, 0002 <382 23! 22,800
0 ER30 AT
20,0002 382 *23| 12 18,240
ot¥E NS 25,0002 x50 *23] 2,500
14 JIEt2d =2 3,102 5,232 22,130
OSeIMA IS FXNE 3,102
0S¥ 3652 x38 x60H* 12 972
oy 3553 x50 * 100 12 2,130
AsLHEH XS 2,800 2,800 0
301 EetE2 NS 2,800 2,800
06 AH=ZSHUHAHIXIE 2,800 2,800
OXtsddUd &3l X2
700,000 *42] 2,800
ORI DJlerdst 53,411 21,280 32,131
FAUXXIME X2 53,411 21,280 32,131
FOIXXIME 2tel X 53,411 21,280 32,131
201 fer= 3| 20,584 18,700 1,884
01 AtR2tc|HI 19,584 18,000 1,584
O=g=g 18,000
o =Xz EexE
50,0002 x30F 122 18,000
O3J188J| Xtz
66,000 »2CH =128 1,584
02 S3=gHl 1,000 700 300
OAIE2&EHI= X 1,000,000& 1,000
401 AIEHIZ SR HYI 25,312 25,312
01 Al&HI 25,312 25,312
O=F2UXNXIHE S HHLI| WX SA
25,312,000 25,312
405 AHatE = 7,515 2,580 4,935
01 ML ESFSHI 6,515 1,580 4,935
O=2XXHH =25 7 6,515
o=&E A g 260,6002*25H 6,515
02 =A=EhI 1,000 1,000 0
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H & 0l & AHS B Ml A

PN SE2S
B QXY e As)
Eelr NtMEHH s X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SE2S 280,094 278,298 1,79
XY Ag 235 148,690 185,857 AT 167
NS 25 N 148,690 185,857 NT,167
SEHE ADIME XA 145,890 183,057 NT,167
301 EetE NS 145,890 183,057 NT,167
o7 8% -0 - H¥Es243 142,950 146,950 24,000
Os - yegs:2d= 142,950
o S&¥+H 300,000 x30E «12& 108,000
o S¥HU=2 300,000& x30& *23] 18,000
oS&zo+¢
20,0002 *302*23| 12 14,400
ot¥E NS 25,0002 +51H =23 2,550
14 JIEt2d =2 2,940 6,107 A3,167
Os - X DISFXE 2,940
0S¥ 3653 x30& x60H* 12 767
oot 355 +51&+ 100~ 123 2,173
AsLHEH XS 2,800 2,800 0
301 EetE2 NS 2,800 2,800
06 AH=ZSHUHAHIXIE 2,800 2,800
OXtsddUd &3l X2
700,000 *42] 2,800
ORI DJlerdst 20,524 19,300 1,224
FAUXXIME X2 20,524 19,300 1,224
FOIXXIME 2tel X 20,524 19,300 1,224
201 fer= 3| 19,924 18,700 1,224
01 AtR2tc|HI 19,224 18,000 1,224
O=g=g 50,0002 x30E 122 18,000
O3J1E&IISx= 34,000 x3CH =122 1,224
2 s3=234l 700 700 0
OAlI2EHIF I 700,000 700
405 KHaHF S| 600 600
02 =AMl 600 600
O=CTXIHEH HIXI8 &M F
600,000 600
FoEo AHMAH = 1,901 1,901 0
DMBE MHIA X 1,901 1,901 0
S 7 29 1,901 1,901 0
201 er2&| 1,901 1,901 0
01 At2teltl 1,901 1,901 0
OSgezsI| 225 7Y
1,901,000& 1,901
S BAAE Ul & 298 6,130 4,500 1,630
S A 3 6,130 4,500 1,630




PN SE2S
M = BAMAE JHl & 28
el S EA EZoHd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S BAAE B & i 6,130 4,500 1,630
401 Al HIZL 201 6,130 4,500 1,630
01 Al&HI 6,130 4,500 1,630
OS A AlE 2= SA 6,130,000& 6,130
HY2HHH(SE2S) 102,849 96,740 6,109
2dbl(S&28) 102,849 96,740 6,109
Jl23Hl NRAE (S&28) 102,849 96,740 6,109
201 2= 77,877 72,038 5,839
01 At2t2ltl 41,521 26,198 16,323
Oget=ZH| 76,1403 x 128« 122 %90% 9,868
O=EH| 6,221,000& 6,221
OAEEHl Xz 2,592
oA BIIFEEI| gtz
32,000 =3 =122 1,182
o&=J| Xz 30,0002 =2CH+ 12 720
oIt &xtz 30,000 »2CH =128 720
ORQUBHIANIAB2ACS R Y=
140,000& 122 1,680
Ogstc|d R = 130,000& «12& 1,560
Osdl2cld?R s
99,0002~ 12 1,188
O&ote 2| s
135,000& 122 1,620
OFAI Ex22|gER HEE
1,326,000& ~12& 16,912
OAHARZE flolid It & Ask 53
ez 880,000 880
02 S3=4gl 36,356 45,840 N9,484
Os&sk= € MA 26,300,000 26,300
OAI2EBI= X 4,000,000& 4,000
@Jul=d:] 700,000 «8Z 5,600
OAtzl=Xl 89 €22
38,0002« 1CH= 12 456
202 04dl 16,552 16,552
01 =LHOHI 15,552 15,552
OO0l 10,0002 * 12 » 122+ 12 «00% 15,552
203 =4l 9,420 9,180 270
01 D122 HARFA| 5,940 5,670 270
OJ|22EgR=2a] 495,000 123 5,940
02 SRIHAHA =] 480 480 0
Ot 2| 40,0008 * 12 480
M RFAZSLRFAI 3,000 3,000 0
ORNEgg =AY 250,000 x 122 3,000




H & 0l & AHS B Ml A

SN 23S
A AXSEE ALt
Chel: XHMEH &8s KA (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SE3= 259,247 251,589 7,658
NXIHE Akt 137,890 141,038 A3,148
MR &= K& 137,890 141,038 A3,148
SEE ADIRE K& 135,090 138,238 A3,148
301 LB F 135,090 138,238 A3,148
07 8% - 01% - BHESSEAZ 132,840 134,540 A1,700
(OI=PS e = 300,000& x28H  12& 100,800
OSEANZ 300,000 x28H 23| 16,800
OS&3o=+ 20,0003 #28H 25|« 12& 13,440
OerE=Eaa 25,0003 *36H *23] 1,800
14 J|EtE A2 2,250 3,698 A1,448
OSHEMYIISEXIR 2,250
os¥ 3552+ 28H 601+ 122 716
o BtE 355&*36H 1001+ 123 1,534
EeEi X2 2,800 2,800 0
301 LPENZ 2,800 2,800
06 At UAHIXI& 2,800 2,800
OX=248iad gsHl XA
700,000 43| 2,800
=0IXX J|ghd st 20,539 19,700 839
FUXXIHAE X2 20,539 19,700 839
FOIXXIHE 22 XA 20,539 19,700 839
201 B2 AY| 19,539 18,700 839
01 AtR2telt] 18,839 18,000 839
O=0IXtxlal I3l 3o+
50,000 *30F «12& 18,000
O3JI18EIIX= 69,9003 «1CH* 123 839
02 324l 700 700 0
OAEEHIR XU 700,000& 700
405 KHFSH| 1,000 1,000 0
02 A7 1,000 1,000 0
SIHH ST 1,000,000& 1,000
FoEO HEMAH 2= 1,901 1,901 0
KO AHIA K& 1,901 1,901 0
SR 4 29 1,901 1,901 0
201 Ler23| 1,901 1,901 0
01 AtR22elt] 1,901 1,901 0
Oget=2H| 1,901
o SENRIAYUZI| AZE P
1,900,800& 1,901
= EAAAE JHl & 2 9,944 9,944
s BAF BZMH 9,944 9,944




=N SEIS

M = BAMAE JHl & 28
el S EA EZoHd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ST ALEDE Z B XIS At 9,944 0 9,944
401 Al HIZL 201 9,944 0 9,944
01 Al&HI 9,944 0 9,944
OSEAL LED JZ & EXISA
9,943,010& 9,944
HY2HAH(SE3S) 88,973 88,950 23
I23HI(SE3S) 88,973 88,950 23
Jl23Hl NIRAIE (SE33) 88,973 88,950 23
201 er2 3| 67,713 67,960 N2AT
01 At2t2lt] 38,913 24,040 14,873
Oget=ZH| 76,1402+ 11E x 122 +90f% 9,046
o=l 8,000& x11& 64« 128 6,336
OAEEHl Xz 2,219
o &=D| Rz 27,5003 =2 122 660
ol gxt& 30,0002 *2CH = 122 20
o2lEd SIIFEI| Ptz
69,9002 x1CH* 122 839
OanZ A2t HES 6,288
o FOZHIAIAH 29
140,000« 12& 1,680
ot F Uiz
150,000& * 12 1,800
odylgderdae| ez
135,000~ 128 1,620
oS|G R =
99,0002~ 12 1,188
OzelE4] 15,024
0 SEAN HAESHY| 1,252,000« 123 15,024
02 S3=gHl 28,800 43,920 15,120
OsE2= & HA 22,800,000 22,800
@Jul=d:] 2,500,000 2,500
OAlZ &I Xl 3,500
0 ST AL =AY 3,500,000 3,500
202 048l 11,880 11,880
01 2L AL 11,880 11,880
OEF0HI 10,0002 * 112 %10+ 12 9% 11,880
203 =] 9,380 9,110
01 D22 HARFA| 5,940 5,670
OJ|22ggR=2at] 495,000 <123 5,940
02 FRItAA =AY 440 440
Ot 28| 40,0008 11 440
M A2 LRFEI 3,000 3,000
ORANEgg =AY 250,000 x 122 3,000




H & 0l & AHS B Ml A

3 ggdst
o gs X (St &)
LA BRAE) - RN - BAS of v e HIDE2
404,640 399,816 4,824
Y ALt 229,704 236,000 26,296
tEEH 2 X2 229,704 236,000 6,296
SEHE ADIME XA 226,904 233,200 6,296
301 EetE NS 226,904 233,200 2N\6,296
S& -0 - HEEs2a3 223,060 226,460 23,400
Os - ol - gHEes2y=s 223,060
o S&¥+H 300,000 x47E~12& 169,200
o S¥HU=2 300, 0002 x47 H 23] 28,200
0 ER30 AT
20,0002 x47H*23|x 122 22,560
ot¥E NS 25,0002 62 *23] 3,100
14 JIEt2d =2 3,844 6,740 A2,8%6
OSeIMA IS FXNE 3,844
0S¥ 3653 x47 & x60H* 12 1,202
oot 3553 x62& * 100 12 2,642
AsLHEH XS 2,800 2,800 0
301 EetE2 NS 2,800 2,800
06 AH=ZSHUHAHIXIE 2,800 2,800
OXtsddUd &3l X2
700,000 *42] 2,800
ORI DJlerdst 38,544 21,000 17,544
FAUXXIME X2 38,544 21,000 17,544
FOIXXIME 2tel X 38,544 21,000 17,544
201 fer= 3| 37,544 20,000 17,544
01 AtR2tc|HI 35,544 18,000 17,544
O=g=g 50,0002 x30E 122 18,000
O3J1E&IISx= 68,0003 =2 122 1,632
OXXIHE Ha ES
1,326,000 12& 15,912
02 S3=gl 2,000 2,000 0
AN&EZHIS XY 2,000,000 2,000
405 AtatE=H 1,000 1,000
AR 1,000 1,000
O=CIXXIHE HIXIE SA7Y
1,000,000 1,000
MA 7= 4,452 2,862 1,590
AElA K& 4,452 2,862 1,590
2 &7 2 4,452 2,862 1,590
2ot2 | 2,862 2,862 0
AR 22| 2,862 2,862 0
ER=laet=all 2,862




S SE1S
I FoEo AYHHA =
(0 Y PULC == b | RN (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oEEBIAYLT)| ADE Y
2,862,000& 2,862
405 KHoHFSHI 1,590 0 1,590
01 ML ESFSHI 1,590 0 1,590
OSHUAET AN 72
330,000 *3CH 990
OSSUIAET 9% 7L
150, 0002 *4H 600
S ZAAE dHl € 29 960 840 120
S A 23 960 840 120
SZAL =2 2l 960 840 120
201 et 3| 960 840 120
01 AtR2tc|Hl 960 840 120
Os EAH etV XtE
80,000& * 122 960
HH2IAH(EE18) 130,980 139,114 A8,134
J=2ZH(EE1S) 130,980 139,114 A8,134
JI2ZHINRAS(EE1S) 130,980 139,114 N8,134
201 fer=2 3| 106,700 115,884 N9, 184
01 AtR2te|HI 35,141 27,341 7,800
Oget=EH| 76, 1403 x13F + 123 »90% 10,691
O=gl 8,000 x 13 +6A!x 122 7,483
ORQUBHIANAREZSE 154,0002 123 1,848
Odgzt2elgd iz 132,000 122 1,584
O&otE |t = 200,000& * 128 2,400
OsJIsAzel 110,000« 12& 1,320
O A AR (s
628,000 122 7,536
OAZEEIgxtZ 2,274
od#J| Xz 31,900 201+ 122 766
ol &xtz 22,9003 =20 122 550
oRlRAl BIIHFI| YR
39,900 »2CH =128 958
2 s5=34l 71,559 88,543 16,984
Os&s= € MA 66,155,000 66,155
OAtI=SIIEE gF& 33,6202 x 122 404
OAlZ EHIs Xl 5,000,000 5,000
202 04l 14,040 14,040
01 SLHoIH 14,040 14,040
OE&0it| 10,0003 %138 *10& * 122 «90% 14,040
203 HE=AH] 9,460 9,190 270
01 D[22 LR FA| 5,940 5,670 270
OJ|2=gg =AY 495,000~ 122 5,940
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A £ O &

AR g A A

s5os
Ny Aegdst
KA 2SN (St &)
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